

① $\lim_{x \rightarrow +\infty} (e^x - x^2 + 1) = e^{+\infty} - \infty^2 + 1 = \infty - \infty + 1 = +\infty$

② $\lim_{x \rightarrow -\infty} \frac{\ln(x^2 + 1)}{x} = \frac{+\infty}{-\infty} = 0$

③ $\lim_{x \rightarrow +\infty} \left(\frac{x^2 - 1}{x + 2} - \frac{x^3}{x^2 + 1} \right) = \frac{+\infty}{+\infty} - \frac{+\infty}{+\infty} = \infty - \infty$
 $\lim_{x \rightarrow +\infty} \frac{x^2 - 1 - x^3}{x^2 + 2x + 2} = \frac{-\infty}{+\infty} = \frac{-2}{-1} = -2$

dic 11-13:10

$\lim_{x \rightarrow 2} \frac{2x^2 + x - 10}{x^2 - 3x + 4} = \frac{8 + 2 - 10}{8 - 12 + 4} = \frac{0}{0}$ (Ind)

$x = \frac{-1 \pm \sqrt{17}}{2} \quad / \quad -5/2$

$\lim_{x \rightarrow 2} \frac{2(x-2)(x+5/2)}{(x-2)(x+1)} = \frac{9}{0}$

$\lim_{x \rightarrow 2^-} f(x) = \frac{9}{0} = -\infty$ (A)

$\lim_{x \rightarrow 2^+} f(x) = \frac{9}{0} = +\infty$

$x = \frac{1 \pm \sqrt{3}}{2} \quad / \quad -1$

dic 11-13:14

$\lim_{x \rightarrow 1} \left(\frac{2x+4}{x^2-x+6} \right)^{\frac{3x}{x-1}} = \left(\frac{6}{6} \right)^{\frac{3}{0}} = 1^{\frac{3}{0}}$ (Ind)

$e \lim_{x \rightarrow 1} \frac{3x}{x-1} \left(\frac{2x+4}{x^2-x+6} - 1 \right)$

$e \lim_{x \rightarrow 1} \frac{3x}{x-1} \frac{2x+4-x^2+x-6}{x^2-x+6}$

$e \lim_{x \rightarrow 1} \frac{3x}{x-1} \frac{-x^2+3x-2}{x^2-x+6} = \frac{3 \cdot 0}{0.6} = e$

$e \lim_{x \rightarrow 1} \frac{3x \cdot (-1) \cdot (-1) \cdot (-2)}{(x-1)(x^2-x+6)} = \lim_{x \rightarrow 1} \frac{-6}{6} = e^{-1} = \frac{1}{e}$

dic 11-13:17

$\lim_{x \rightarrow -\infty} \left(\frac{2-3x}{-2x+1} \right)^{-x/2} = \left(\frac{+\infty}{-\infty} \right)^{\infty} = \left(\frac{3}{2} \right)^{\infty} = +\infty$

$\lim_{x \rightarrow 0} \frac{x \sin x}{x^3 + 3x^2} = \frac{0}{0}$ (Ind) $\approx \lim_{x \rightarrow 0} \frac{x \cdot x}{x^3 + 3x^2} = \frac{0}{0}$

$\lim_{x \rightarrow 0} \frac{x^2}{x^2(x+3)} = \frac{1}{3}$

dic 11-13:22

$$\lim_{x \rightarrow 0} \frac{4 - 4 \cos x}{x^2} = \frac{0}{0}$$

$$\lim_{x \rightarrow 0} \frac{4(1 - \cos x)}{x^2} \approx \lim_{x \rightarrow 0} \frac{4 \cdot \frac{x^2}{2}}{x^2} = 2$$

$1 - \cos x \approx \frac{x^2}{2}$

$$\lim_{x \rightarrow 0} \frac{\sin x + 2x}{x} = \frac{0}{0} \text{ (pendente)}$$

$$\sin(x-1) \approx (x-1)$$

$\downarrow \quad \downarrow$
 $0 \quad x \rightarrow 1$

dic 11-13:25

$$2^{\frac{3}{x-1}}$$

$$\lim_{x \rightarrow 1} (x+1)^{\frac{3}{x-1}} = 2$$

$\lim_{x \rightarrow 1^+} f(x) = 2^{\frac{3}{0^+}} = 2^{+\infty} = +\infty$
 $\lim_{x \rightarrow 1^-} f(x) = 2^{\frac{3}{0^-}} = 2^{-\infty} = 0$ (A)

$\lim_{x \rightarrow 1} (x+1)^{\frac{3}{(x-1)^2}} = 2$

$\lim_{x \rightarrow 1^+} f(x) = 2^{\frac{3}{0^+}} = 2^{+\infty} = +\infty$
 $\lim_{x \rightarrow 1^-} f(x) = 2^{\frac{3}{0^-}} = 2^{+\infty} = +\infty$ (tod)

dic 11-13:31

ASINTOTAS

A.V $\lim_{x \rightarrow a} f(x) = \pm \infty$

Coeficiente $x=a$ $f(x) = \frac{P(x)}{Q(x)}$ $Q(a) = 0$ $x=a$ hdb
 log $f(x) = \log_2 P(x)$ $P(a) = 0$ $x=a$ lmit

A.H $y=a$ $\lim_{x \rightarrow \infty} f(x) = a$

Coeficiente $\lim_{x \rightarrow \infty} \frac{P(x)}{Q(x)}$ Grado $Q(x) >$ Grado $N(x)$
 EX: $\lim_{x \rightarrow \infty} a^{\frac{1}{x}}$ $2^{+\infty} = +\infty$ $2^{-\infty} = 0$ J.A.H

A.O $y=mx+n$ $m = \lim_{x \rightarrow \infty} \frac{f(x)}{x} \in \mathbb{R} - \{0\}$
 $n = \lim_{x \rightarrow \infty} [f(x) - mx]$
 Raíces $f(\infty)$ Asint(∞)

Coeficiente $m = \lim_{x \rightarrow \infty} \frac{f(x)}{x}$ Grado $P(x) >$ Grado $Q(x)$

Raíces $\lim_{x \rightarrow \infty} \frac{\sqrt{x^2+2}}{x} = 1$
 $m = \lim_{x \rightarrow \infty} \frac{\sqrt{x^2+2}}{x} = \frac{+\infty}{+\infty} = \frac{\sqrt{1}}{1} = 1$
 2 asintotas oblicuas $\lim_{x \rightarrow +\infty}$
 $\lim_{x \rightarrow -\infty}$

Raíces $\lim_{x \rightarrow \pm \infty} f(x) = \pm \infty$

dic 11-13:39

Deberes

- ① $\lim_{x \rightarrow 0} \frac{\sqrt{2x+4}-2}{\sqrt{x+1}-1}$
- ② $\lim_{x \rightarrow -1} \frac{3x^2+x-2}{x^3+x^2-x-1}$
- ③ $\lim_{x \rightarrow 2} \frac{(3x-2)}{x^2-2x+4} \cdot \frac{x}{2-x}$
- ④ $\lim_{x \rightarrow -\infty} \left(\frac{4x^2-7}{3x^3+9x} \right)^x$
- ⑤ $\lim_{x \rightarrow 1} \frac{x \cdot \log(2x-1)}{x^2-1}$

dic 11-13:54